20165

Dowd Road Over Racoon Creek Bridge Replacement Project

Closing Date: Wednesday, March 31, 2021

Submission Summary

Vendor	City/Province	Submission Name	Unofficial Value or Notes
Stewart Engineering Inc	Redding, CA	Submission 1	Bid Item List: \$7,119,242.00
Viking Construction Company, Inc.	Rancho Cordova, CA	Submission 1	Bid Item List: \$5,413,560.50
McCuen Construction, Inc.	Loomis, California	Submission 1	Bid Item List: \$5,502,222.40
RNR Construction, Inc.	Sacramento, California	Submission 1	Bid Item List: \$5,454,735.00
R.A. Nemetz Construction Co., Inc.	Galt, CA	Submission 1	Bid Item List: \$6,380,140.75
Steelhead Constructors JV	Palo Cedro, CA	Submission 1	Bid Item List: \$6,378,233.00
MCM Construction	North Highlands, CA	Submission 1	Bid Item List: \$5,428,189.00
Myers & Sons Construction, LLC	Sacramento, California	Submission 1	Bid Item List: \$6,239,322.00

Gina Pearson	Gina Pearson	3/31/21
Witness (Print Name)	Signature	Date
Witness (Print Name)	Signature	Date
Witness (Print Name)	Signature	Date



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: Stewart Engineering Inc

P.O. Box 990010

Address:

Redding, CA 96099

Contact: Keith Stewart

Email: kstewart@sebinc.net

Phone: 530-244-8464 Fax: 530-244-8462

HST#:

Submission Details

Created On: Wednesday March 31, 2021 08:44:49
Submitted On: Wednesday March 31, 2021 10:47:50

Submitted By: Keith Stewart

Email: kstewart@sebinc.net

Transaction #: f29c4df4-e0e6-4941-8112-c2718092ac99

Submitter's IP Address: 76.208.126.190

Schedule of Prices

Bid Item List

Line tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE *	AMOUNT
1		66018	FURNISH FIELD OFFICE	LS	1	\$50,700.0000	\$ 50,700.00
2		70030	LEAD COMPLIANCE PLAN	LS	1	\$1,400.0000	\$ 1,400.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$27,700.0000	\$ 27,700.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$6,900.0000	\$ 6,900.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$7,900.0000	\$ 7,900.00
		120120	TYPE III BARRICADE	EA	8	\$115.0000	\$ 920.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$3,450.0000	\$ 17,250.00
		130100	JOB SITE MANAGEMENT	LS	1	\$23,400.0000	\$ 23,400.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$1,400.0000	\$ 1,400.00
0		130310	RAIN EVENT ACTION PLAN	EA	12	\$175.0000	\$ 2,100.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$283.0000	\$ 3,396.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$545.0000	\$ 545.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$6.8000	\$ 8,024.00
ļ	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$2.8000	\$ 11,676.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$3.4000	\$ 1,462.00
3	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$4,000.0000	\$ 8,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$312,500.0000	\$ 312,500.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$18,000.0000	\$ 18,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$87.0000	\$ 4,350.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$5.0000	\$ 300.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$9,900.0000	\$ 26,235.00
2		170103A	REMOVE TREE STUMP	EA	45	\$190.0000	\$ 8,550.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$68.0000	\$ 106,080.00
1	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$113.0000	\$ 27,459.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$24.0000	\$ 89,520.00
6	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$207.0000	\$ 44,505.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$86.0000	\$ 244,240.00
3		198010	IMPORTED BORROW	CY	8670	\$49.0000	\$ 424,830.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$38.0000	\$ 8,360.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$49.0000	\$ 15,190.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.4500	\$ 6,885.00
2		210430	HYDROSEED	SF	61200	\$0.1000	\$ 6,120.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$77.0000	\$ 241,780.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$81.0000	\$ 129,600.00

Bid Number: 20165

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$14.0000	\$ 1,820.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$14.0000	\$ 7,350.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$120.0000	\$ 1,200.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$324.0000	\$ 127,332.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$119.0000	\$ 141,372.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$2,645.0000	\$ 58,190.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$78,000.0000	\$ 78,000.00
12	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$532.0000	\$ 39,368.00
13	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,448.0000	\$ 189,688.00
14	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,358.0000	\$ 513,324.00
15	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$1,687.0000	\$ 1,990,660.00
16	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,161.0000	\$ 27,864.00
17		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$95.0000	\$ 7,885.00
8		510094A	DRAINAGE INLET (TYPE G3)		10	\$3,000.0000	\$ 30,000.00
9	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$2.0000	\$ 236,820.00
0	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$1.8500	\$ 237,725.00
1	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$5.0000	\$ 3,335.00
2	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$33.0000	\$ 528.00
3		600097	BRIDGE REMOVAL	LS	1	\$123,500.0000	\$ 123,500.00
4		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$142.0000	\$ 28,400.00
5		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$262.0000	\$ 11,790.00
6		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$980.0000	\$ 6,860.00
7		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$1,750.0000	\$ 3,500.00
8		710132	REMOVE PIPE	LF	45	\$49.0000	\$ 2,205.00
9	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$130.0000	\$ 83,200.00
0	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$133.0000	\$ 41,230.00
1	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$11.0000	\$ 11,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,300.0000	\$ 9,100.00
3		800051	FENCE (CATTLE FENCING)	LF	1450	\$20.0000	\$ 29,000.00
4		803020	REMOVE FENCE	LF	1900	\$8.5000	\$ 16,150.00
5		780210	SURVEY MONUMENT	EA	5	\$900.0000	\$ 4,500.00
6		803060	REMOVE GATE	EA	3	\$425.0000	\$ 1,275.00
7		820130	OBJECT MARKER	EA	4	\$82.0000	\$ 328.00
_		820230	REMOVE SIGN	EA	7	\$73.0000	\$ 511.00
8	PF	820530	RESET ROADSIDE SIGN (ONE POST)	EA	1	\$155.0000	\$ 155.00
	FF					#207 0000	\$ 654.00
9		820804	INSTALL ROADSIDE SIGN (ONE POST)	EA	2	\$327.0000	\$ 034.00
i9 '0	FF	820804 832005		LF LF	425	\$44.0000	\$ 18,700.00
68 69 70 71			(ONE POST) MIDWEST GUARDRAIL				

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$1,960.0000	\$ 3,920.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$4,800.0000	\$ 9,600.00
76	F	839700A	CONCRETE BARRIER (TYPE 85)	LF	1595	\$244.0000	\$ 389,180.00
77		839752	REMOVE GUARDRAIL	LF	210	\$16.4000	\$ 3,444.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.3000	\$ 9,230.00
79		999990	MOBILIZATION	LS	1	\$711,000.0000	\$ 711,000.00
Subtotal:							\$ 7,119,242.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
0	None	None	None/0

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Example							
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)	
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes	
2	Ben's Paving	Penryn	СА	99991010	53074535	No	

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	Camblin Steel Service, Inc	Rocklin	CA	218839	100003852	C Yes C No
2	PC&N Construction	Byron	CA	771652	1000002500	C Yes
3	Jarrett Foundations, Inc	McClellan	CA	999006	1000005990	C Yes
4	Schwager Davis	San Jose	CA	492582	100005118	C Yes
5	Selby's Soil Erosion Control Co Inc	Newcastle	CA	797658	1000001336	○ Yes ○ No
6	Teichert Construction	Sacramento	CA	000008	1000002575	C Yes
7	Verux, Inc	Sacramento	CA	955527	1000007970	C Yes C No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
Camblin Steel Service, Inc	46 49, 50, 51, 52 76	27% 100% 23%	Re-steel
PC&N Construction, Inc	71, 72, 73, 74, 75, 77	100%	
Jarrett Foundations, Inc	17 38 39, 40	41% 85% 100%	F&I Sheetpile CIDH less GC support
Schwager Davis	41	83%	Prestressing lessGC support
Selby's Soil Erosion Control Co Inc	13, 14, 15, 31, 32	100%	
	23,25, 27, 28-30, 33-37, 48, 54- 58, 62 79	100% 20%	Earthwork / HMA mobes
Verux, Inc	8 9 10, 11, 12 17	33% 29% 100% 4%	WPC inspections Plan Prep Water Quality Sampling/Reporting

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification 20165 Equal Employment Opportunity Certification.pdf Wednesday March 31, 2021 09:22:19
- Public Contract Code Statements 20165 Public Contract Code Statements.pdf Wednesday March 31, 2021 09:24:55
- Non-Collusion Affidavit 20165 NonCollusion Affidavit.pdf Wednesday March 31, 2021 09:26:00
- Debarment and Suspension Certification 20165 Debarment and Suspension Certification.pdf Wednesday March 31, 2021 09:27:10
- Nonlobbying Certification for Federal-Aid Contracts 20165 NonLobbying Certification & Disclosure.pdf Wednesday March 31, 2021 09:28:26
- Disclosure of Lobbying Activities 20165 Disclosure of Lobbying.pdf Wednesday March 31, 2021 10:40:50
- Bid Security Election Form 20165 Bid Security Election Form.pdf Wednesday March 31, 2021 09:09:24
- Disadvantaged Business Enterprises Forms Exhibit 12-B Part 1 and 2.pdf Wednesday March 31, 2021 10:45:23
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - 20165 Bidders Bond.pdf - Wednesday March 31, 2021 09:08:00

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

■ I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Keith Stewart, President, SEB Engineering Inc dba Stewart Engineering Inc

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes
No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	M	
20165 Addendum 2 Mon March 22 2021 02:42 PM	₩	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	M	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Bid Number: 20165 Vendor Name: Viking Construction Company, Inc.

Company Name: Viking Construction Company, Inc.

PO Box 1508

Address:

Rancho Cordova, CA 95741

Contact: Troy Clemons

Email: tclemons@vikingbridges.com

Phone: 916-852-5530
Fax: 916-852-5533
HST#: 68-0404112

Submission Details

Created On: Tuesday March 02, 2021 09:59:40
Submitted On: Wednesday March 31, 2021 10:52:08

Submitted By: Troy Clemons

Email: tclemons@vikingbridges.com

Transaction #: c427fc1f-bb76-4497-b986-eb60a888a913

Submitter's IP Address: 50.211.120.190

Schedule of Prices

Bid Item List

_ine tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE*	AMOUNT
1		66018	FURNISH FIELD OFFICE	LS	1	\$50,000.0000	\$ 50,000.00
2		70030	LEAD COMPLIANCE PLAN	LS	1	\$4,500.0000	\$ 4,500.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$10,000.0000	\$ 10,000.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$6,500.0000	\$ 6,500.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$10,000.0000	\$ 10,000.00
		120120	TYPE III BARRICADE	EA	8	\$150.0000	\$ 1,200.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$10,000.0000	\$ 50,000.00
		130100	JOB SITE MANAGEMENT	LS	1	\$50,000.0000	\$ 50,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$2,500.0000	\$ 2,500.00
)		130310	RAIN EVENT ACTION PLAN	EA	12	\$350.0000	\$ 4,200.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$800.0000	\$ 9,600.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$1,400.0000	\$ 1,400.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$6.0000	\$ 7,080.00
ļ	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$2.5000	\$ 10,425.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$3.0000	\$ 1,290.00
6	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$6,500.0000	\$ 13,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$150,000.0000	\$ 150,000.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$15,000.0000	\$ 15,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$80.0000	\$ 4,000.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$10.0000	\$ 600.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$15,000.0000	\$ 39,750.00
2		170103A	REMOVE TREE STUMP	EA	45	\$150.0000	\$ 6,750.00
}		190101	ROADWAY EXCAVATION	CY	1560	\$50.0000	\$ 78,000.00
ļ	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$75.0000	\$ 18,225.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$40.0000	\$ 149,200.00
6	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$140.0000	\$ 30,100.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$100.0000	\$ 284,000.00
3		198010	IMPORTED BORROW	CY	8670	\$25.0000	\$ 216,750.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$10.0000	\$ 2,200.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$10.0000	\$ 3,100.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.4100	\$ 6,273.00
2		210430	HYDROSEED	SF	61200	\$0.0900	\$ 5,508.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$50.0000	\$ 157,000.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$100.0000	\$ 160,000.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$12.0000	\$ 1,560.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$12.0000	\$ 6,300.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$100.0000	\$ 1,000.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$360.0000	\$ 141,480.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$110.0000	\$ 130,680.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$2,800.0000	\$ 61,600.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$80,000.0000	\$ 80,000.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$650.0000	\$ 48,100.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,400.0000	\$ 183,400.00
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,100.0000	\$ 415,800.00
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$820.0000	\$ 967,600.00
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,350.0000	\$ 32,400.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$200.0000	\$ 16,600.00
48		510094A	DRAINAGE INLET (TYPE G3)	EA	10	\$3,000.0000	\$ 30,000.00
49	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$1.3500	\$ 159,853.50
50	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$1.5500	\$ 199,175.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$3.0000	\$ 2,001.00
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$60.0000	\$ 960.00
53		600097	BRIDGE REMOVAL	LS	1	\$100,000.0000	\$ 100,000.00
54		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$150.0000	\$ 30,000.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$150.0000	\$ 6,750.00
56		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$500.0000	\$ 3,500.00
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$1,500.0000	\$ 3,000.00
58		710132	REMOVE PIPE	LF	45	\$50.0000	\$ 2,250.00
59	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$100.0000	\$ 64,000.00
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$200.0000	\$ 62,000.00
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$5.0000	\$ 5,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,500.0000	\$ 10,500.00
63		800051	FENCE (CATTLE FENCING)	LF	1450	\$30.0000	\$ 43,500.00
64		803020	REMOVE FENCE	LF	1900	\$7.0000	\$ 13,300.00
65		780210	SURVEY MONUMENT	EA	5	\$500.0000	\$ 2,500.00
66		803060	REMOVE GATE	EA	3	\$500.0000	\$ 1,500.00
67		820130	OBJECT MARKER	EA	4	\$75.0000	\$ 300.00
68 69	PF	820230 820530	REMOVE SIGN RESET ROADSIDE SIGN	EA EA	1	\$150.0000 \$200.0000	\$ 1,050.00 \$ 200.00
70		820804	(ONE POST) INSTALL ROADSIDE SIGN	EA	2	\$300.0000	\$ 600.00
71		832005	(ONE POST) MIDWEST GUARDRAIL SYSTEM	LF	425	\$42.0000	\$ 17,850.00
72		839576	END CAP (TYPE A)	EA	2	\$150.0000	\$ 300.00
73		839543	TRANSITION RAILING (TYPE	EA	4	\$5,000.0000	\$ 20,000.00
. •			WB-31)	-, ,		45,530.000	25,555.55

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$4,000.0000	\$ 8,000.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$3,000.0000	\$ 6,000.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$260.0000	\$ 414,700.00
77		839752	REMOVE GUARDRAIL	LF	210	\$45.0000	\$ 9,450.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.5000	\$ 10,650.00
79		999990	MOBILIZATION	LS	1	\$540,000.0000	\$ 540,000.00
	Subtotal:						\$ 5,413,560.50

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
N/A	N/A	N/A	N/A

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

	Example							
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)		
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes		
2	Ben's Paving	Penryn	СА	99991010	53074535	No		

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	Knife River Contracting	Chico	CA	091712	1000002755	C YesC No
2	PC&N Construction	Byron	CA	771652	1000002500	C Yes
3	SSEC	Loomis	CA	1039888	1000058550	∩ Yes ∩ No
4	Sterling Holloway	Auburn	CA	382173	1000005529	C Yes C No
5	Jarrett Foundations	McClellan	CA	999006	1000005990	∩ Yes ∩ No
6	Schwager Davis	San Jose	CA	492582	1000005118	C Yes C No
7	CMC Rebar	Tracy	CA	778010	1000000298	∩ Yes ∩ No
8	Dees Burke Engineering Constructors	Pasadena	CA	1012305	10000036375	∩ Yes ∩ No
9	ABSL Construction	Sacramento	CA	621781	1000002818	○ Yes ○ No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
Knife River Contracting Company	23, 28, 33, 34	100	AC Paving
PC&N Construction	71-75, 77	100	Guardrail
SSEC	13, 14, 15, 20, 31, 32	100	Erosion Control
Sterling Holloway	53	100	Bridge Removal
Jarrett Foundations	38, 39, 40	100	CIDH Piling, Furnish and Drive Piles
Schwager Davis	41	100	Prestressing
CMC Rebar	46	22	Rebar
CMC Rebar	49-52	100	Rebar
CMC Rebar	76	24	Rebar
Dees Burke Engineering Constructors	76	60	Form Barrier and Place Materials
ABSL Construction	44	3	Grind and Groove Deck

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

Bid Number: 20165 Vendor Name: Viking Construction Company, Inc.

- Equal Employment Opportunity Certification EEO Cert.pdf Tuesday March 30, 2021 14:11:05
- Public Contract Code Statements Public Contract Code Stmnt.pdf Tuesday March 30, 2021 14:11:22
- Non-Collusion Affidavit Non Collusion Affidavit.pdf Tuesday March 30, 2021 14:11:37
- Debarment and Suspension Certification Debarment Cert.pdf Tuesday March 30, 2021 14:11:52
- Nonlobbying Certification for Federal-Aid Contracts Nonlobbying Cert.pdf Tuesday March 30, 2021 14:12:07
- Disclosure of Lobbying Activities Disclosure of Lobbying Activites.pdf Tuesday March 30, 2021 14:12:26
- Bid Security Election Form Bid Security Election Form.pdf Tuesday March 30, 2021 14:12:48
- Disadvantaged Business Enterprises Forms DBE Forms.pdf Wednesday March 31, 2021 10:47:05
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

Bid Number: 20165

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bidders Bond 1.pdf - Wednesday March 31, 2021 08:55:38

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Troy Clemons, Vice President, Viking Construction Company, Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	M	-
20165 Addendum 2 Mon March 22 2021 02:42 PM	M	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	M	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: McCuen Construction, Inc.

Does your company conduct

business under any other name? If No

yes, please state:

Address:

3269 Swetzer Road

Addi CSS.

Loomis, California 95650

Contact: Trenton McCuen

Email: trenton@mccueninc.com

Phone: 916-652-7824
Fax: 916-652-7602
HST#: 20-4706323

Submission Details

Created On: Wednesday March 17, 2021 16:03:38
Submitted On: Wednesday March 31, 2021 10:51:58

Submitted By: Trenton McCuen

Email: trenton@mccueninc.com

Transaction #: 1cb24185-469f-4b93-9d95-91473d6388c3

Submitter's IP Address: 192.92.6.240

Schedule of Prices

Bid Item List

_ine tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE *	AMOUNT
		66018	FURNISH FIELD OFFICE	LS	1	\$17,920.0000	\$ 17,920.00
		70030	LEAD COMPLIANCE PLAN	LS	1	\$1,680.0000	\$ 1,680.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$12,600.0000	\$ 12,600.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$12,320.0000	\$ 12,320.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$35,347.0000	\$ 35,347.00
		120120	TYPE III BARRICADE	EA	8	\$2,079.0000	\$ 16,632.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$13,216.0000	\$ 66,080.00
		130100	JOB SITE MANAGEMENT	LS	1	\$170,800.0000	\$ 170,800.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$448.0000	\$ 448.00
)		130310	RAIN EVENT ACTION PLAN	EA	12	\$179.2000	\$ 2,150.40
		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$291.2000	\$ 3,494.40
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$560.0000	\$ 560.00
}	W	130610	TEMPORARY CHECK DAM	LF	1180	\$7.0100	\$ 8,271.80
ļ	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$2.8600	\$ 11,926.20
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$3.4800	\$ 1,496.40
6	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$3,360.0000	\$ 6,720.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$280,750.0000	\$ 280,750.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$4,909.0000	\$ 4,909.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$28.0000	\$ 1,400.00
)	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$3.4200	\$ 205.20
l		170103	CLEARING AND GRUBBING	AC	2.65	\$5,053.4200	\$ 13,391.56
?		170103A	REMOVE TREE STUMP	EA	45	\$196.0000	\$ 8,820.00
}		190101	ROADWAY EXCAVATION	CY	1560	\$53.1100	\$ 82,851.60
ļ	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$87.9000	\$ 21,359.70
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$27.3300	\$ 101,940.90
6	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$194.6000	\$ 41,839.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$87.9500	\$ 249,778.00
}		198010	IMPORTED BORROW	CY	8670	\$50.8500	\$ 440,869.50
)		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$50.5800	\$ 11,127.60
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$25.8600	\$ 8,016.60
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.4600	\$ 7,038.00
2		210430	HYDROSEED	SF	61200	\$0.1000	\$ 6,120.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$80.9900	\$ 254,308.60
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$95.2000	\$ 152,320.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$16.8000	\$ 2,184.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$16.8000	\$ 8,820.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$117.6000	\$ 1,176.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$317.2000	\$ 124,659.60
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$122.0800	\$ 145,031.04
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$2,721.6000	\$ 59,875.20
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$85,288.0000	\$ 85,288.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$610.5000	\$ 45,177.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,173.3700	\$ 153,711.47
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,485.5100	\$ 561,522.78
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$452.0800	\$ 533,454.40
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,652.0000	\$ 39,648.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$104.1600	\$ 8,645.28
48		510094A	DRAINAGE INLET (TYPE G3)	EA	10	\$2,829.6000	\$ 28,296.00
49	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$1.4900	\$ 176,430.90
50	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$1.7000	\$ 218,450.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$3.3000	\$ 2,201.10
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$66.5200	\$ 1,064.32
53		600097	BRIDGE REMOVAL	LS	1	\$76,160.0000	\$ 76,160.00
54		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$135.4500	\$ 27,090.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$238.5800	\$ 10,736.10
56		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$272.6400	\$ 1,908.48
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$1,274.5600	\$ 2,549.12
58		710132	REMOVE PIPE	LF	45	\$50.4000	\$ 2,268.00
59	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$173.9200	\$ 111,308.80
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$100.2300	\$ 31,071.30
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$51.9000	\$ 51,900.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$2,139.2000	\$ 14,974.40
63		800051	FENCE (CATTLE FENCING)	LF	1450	\$21.2800	\$ 30,856.00
64		803020	REMOVE FENCE	LF	1900	\$5.6000	\$ 10,640.00
65		780210	SURVEY MONUMENT	EA	5	\$560.0000	\$ 2,800.00
66		803060	REMOVE GATE	EA	3	\$560.0000	\$ 1,680.00
67		820130	OBJECT MARKER	EA	4	\$106.4000	\$ 425.60
68 69	PF	820230 820530	REMOVE SIGN RESET ROADSIDE SIGN	EA EA	7	\$168.0000 \$280.0000	\$ 1,176.00 \$ 280.00
70		820804	(ONE POST) INSTALL ROADSIDE SIGN	EA	2	\$588.0000	\$ 1,176.00
71		832005	(ONE POST) MIDWEST GUARDRAIL	LF	425	\$40.8800	\$ 17,374.00
			SYSTEM			·	
72		839576	END CAP (TYPE A)	EA	2	\$644.0000	\$ 1,288.00
73		839543	TRANSITION RAILING (TYPE WB-31)	EA	4	\$5,040.0000	\$ 20,160.00

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$3,696.0000	\$ 7,392.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$3,360.0000	\$ 6,720.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$327.1100	\$ 521,740.45
77		839752	REMOVE GUARDRAIL	LF	210	\$8.9600	\$ 1,881.60
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.4000	\$ 9,940.00
79		999990	MOBILIZATION	LS	1	\$285,600.0000	\$ 285,600.00
Subtotal:							\$ 5,502,222.40

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
NA	NA	NA	NA

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Example										
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)				
1	Bob's Tree Company	Weimar	СА	1234567	98765432	Yes				
2	Ben's Paving	Penryn	СА	99991010	53074535	No				

Line Item		Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	CMC Rebar	Tracy	CA	778010	1000000298	C Yes € No
2	Jarrett Foundations, Inc	Winters	CA	999006	1000005990	C YesC No
3	M.T. Hall & Associates	Chico	CA	NA	1000025222	C Yes ⊙ No
4	SSEC	Newcastle	CA	1039888	1000058550	C Yes ⊙ No
5	Dees Burke Engineering Constructors, LLC	Pasadena	CA	1012305	1000036375	YesNo
6	DYWIDAG-Systems	Long Beach	CA	273710	1000006705	C Yes ⊙ No
7	Highway Specialty Co, Inc	Palo Cedro	CA	1003147	1000022123	∩ Yes • No
	All American Construction, Inc	Live Oak	CA	948762	1000004065	∩ Yes ⊙ No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification Equal Employment.pdf Wednesday March 31, 2021 07:26:12
- Public Contract Code Statements Public Contract Code.pdf Wednesday March 31, 2021 07:26:32
- Non-Collusion Affidavit Non Collusion.pdf Wednesday March 31, 2021 07:26:43
- Debarment and Suspension Certification Debarment.pdf Wednesday March 31, 2021 07:26:56
- Nonlobbying Certification for Federal-Aid Contracts Non Lobbying Only.pdf Wednesday March 31, 2021 07:27:48
- Disclosure of Lobbying Activities Disclosure of Lobby Activities pdf Wednesday March 31, 2021 07:31:52
- Bid Security Election Form Bid Security.pdf Wednesday March 31, 2021 07:32:09
- Disadvantaged Business Enterprises Forms (optional)
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Security - Bid Bond.pdf - Wednesday March 31, 2021 07:37:14

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

■ I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Trenton McCuen, President, McCuen Construction, Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	区	-
20165 Addendum 2 Mon March 22 2021 02:42 PM	₩	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	₩	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: RNR Construction, Inc.

Does your company conduct

business under any other name? If No

yes, please state:

8589 Thys Court

Address:

Sacramento, California 95828

Contact: Andre Catellier

Email: estimating@rnr-construction.com

Phone: 916-379-0957 Fax: 916-379-0957 HST#: 02-0794952

Submission Details

Created On: Friday March 19, 2021 11:45:27
Submitted On: Wednesday March 31, 2021 10:39:06

Submitted By: Andre Catellier

Email: estimating@rnr-construction.com

Transaction #: e4455cdb-856e-41b3-bcbc-67099d236777

Submitter's IP Address: 96.81.181.97

Schedule of Prices

Bid Item List

Line tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE *	AMOUNT
1		66018	FURNISH FIELD OFFICE	LS	1	\$20,000.0000	\$ 20,000.00
2		70030	LEAD COMPLIANCE PLAN	LS	1	\$2,500.0000	\$ 2,500.00
,		100100	DEVELOP WATER SUPPLY	LS	1	\$5,000.0000	\$ 5,000.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$5,000.0000	\$ 5,000.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$7,500.0000	\$ 7,500.00
		120120	TYPE III BARRICADE	EA	8	\$100.0000	\$ 800.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$6,000.0000	\$ 30,000.00
		130100	JOB SITE MANAGEMENT	LS	1	\$15,000.0000	\$ 15,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$1,000.0000	\$ 1,000.00
0		130310	RAIN EVENT ACTION PLAN	EA	12	\$500.0000	\$ 6,000.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$750.0000	\$ 9,000.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$500.0000	\$ 500.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$55.0000	\$ 64,900.00
1	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$3.0000	\$ 12,510.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$5.0000	\$ 2,150.00
3	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$2,500.0000	\$ 5,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$75,000.0000	\$ 75,000.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$5,000.0000	\$ 5,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$80.0000	\$ 4,000.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$4.0000	\$ 240.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$10,000.0000	\$ 26,500.00
2		170103A	REMOVE TREE STUMP	EA	45	\$250.0000	\$ 11,250.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$59.0000	\$ 92,040.00
1	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$100.0000	\$ 24,300.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$20.0000	\$ 74,600.00
3	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$250.0000	\$ 53,750.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$76.0000	\$ 215,840.00
8		198010	IMPORTED BORROW	CY	8670	\$33.0000	\$ 286,110.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$26.0000	\$ 5,720.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$40.0000	\$ 12,400.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.7000	\$ 10,710.00
2		210430	HYDROSEED	SF	61200	\$0.1700	\$ 10,404.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$69.0000	\$ 216,660.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$73.0000	\$ 116,800.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$12.0000	\$ 1,560.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$12.0000	\$ 6,300.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$100.0000	\$ 1,000.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$380.0000	\$ 149,340.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$120.0000	\$ 142,560.00
10	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$6,000.0000	\$ 132,000.00
1	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$100,000.0000	\$ 100,000.00
2	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$750.0000	\$ 55,500.00
3	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,500.0000	\$ 196,500.00
4	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,000.0000	\$ 378,000.00
5	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$940.0000	\$ 1,109,200.00
6	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$2,000.0000	\$ 48,000.00
7		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$200.0000	\$ 16,600.00
8		510094A	DRAINAGE INLET (TYPE G3)	EA	10	\$2,800.0000	\$ 28,000.00
9	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$1.3000	\$ 153,933.00
)	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$1.5000	\$ 192,750.00
1	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$2.0000	\$ 1,334.00
2	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$59.0000	\$ 944.00
3		600097	BRIDGE REMOVAL	LS	1	\$50,000.0000	\$ 50,000.00
1		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$120.0000	\$ 24,000.00
5		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$220.0000	\$ 9,900.00
3		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$780.0000	\$ 5,460.00
7		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$1,450.0000	\$ 2,900.00
3		710132	REMOVE PIPE	LF	45	\$42.0000	\$ 1,890.00
9	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$200.0000	\$ 128,000.00
0	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$275.0000	\$ 85,250.00
1	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$5.0000	\$ 5,000.00
2		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,050.0000	\$ 7,350.00
3		800051	FENCE (CATTLE FENCING)	LF	1450	\$25.0000	\$ 36,250.00
ļ		803020	REMOVE FENCE	LF	1900	\$5.0000	\$ 9,500.00
5		780210	SURVEY MONUMENT	EA	5	\$750.0000	\$ 3,750.00
;		803060	REMOVE GATE	EA	3	\$750.0000	\$ 2,250.00
•		820130	OBJECT MARKER	EA	4	\$75.0000	\$ 300.00
}		820230	REMOVE SIGN	EA	7	\$130.0000	\$ 910.00
9	PF	820530	RESET ROADSIDE SIGN (ONE POST)	EA	1	\$200.0000	\$ 200.00
0		820804	INSTALL ROADSIDE SIGN (ONE POST)	EA	2	\$300.0000	\$ 600.00
		000005	MIDWEST GUARDRAIL	LF	425	\$40.0000	\$ 17,000.00
1		832005	SYSTEM				
1 2		839576		EA	2	\$150.0000	\$ 300.00

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$3,500.0000	\$ 7,000.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$2,750.0000	\$ 5,500.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$250.0000	\$ 398,750.00
77		839752	REMOVE GUARDRAIL	LF	210	\$45.0000	\$ 9,450.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.2000	\$ 8,520.00
79		999990	MOBILIZATION	LS	1	\$475,000.0000	\$ 475,000.00
Subtotal:							\$ 5,454,735.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
NA	NA	NA	NA

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

	Example							
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)		
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes		
II.)	Ben's Paving	Penryn	СА	99991010	53074535	No		

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	Arctos Erosion Control, Inc.	Elk Grove	CA	1056119	1000460390	○ Yes ○ No
2	CMC Rebar	Tracy	CA	778010	1000000298	○ Yes
3	Midstate Barrier, Inc.	Stockton	CA	529261	1000000538	∩ Yes No
4	Ranch Fence, Inc.	Mariposa	Ca	1743371	1000009836	○ Yes ○ No
5	Sacramento Drilling, Inc.	Sacramento	CA	759193	1000004496	C Yes
6	Schwager Davis, Inc.	San Jose	CA	492582	1000005118	○ Yes ○ No
7	Teichert Construction	Roseville	CA	8	1000002575	C Yes ⓒ No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description	
Bob's Tree Co.	1	50%	Tree Removal	
Ben's Paving	23-35, 37, 39, 41	100%		

Subcontractor	Item	Percentage (%)	Description
Arctos Erosion Control, Inc.	13-15, 20, 31, 32	100	Erosion Control and Hydroseed
CMC Rebar	46, 49-52, 76	100	Rebar and Reinforcing Steel
Midstate Barrier, Inc.	71-75, 77	100	MBGR
Ranch Fence, Inc.	63	100	Fence
Sacramento Drilling, Inc.	38	100	Cast-In-Drilled Hole Piling
Schwager Davis, Inc.	41	100	Prestressing
Teichert Construction	23, 25, 27-30	100	Earthwork, Structure Ex and Backfill RW
Teichert Construction	33-37	100	Hot Mix Asphalt
Teichert Construction	48, 54-58, 62	100	Drainage and Pipe

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification EEO RNR and Subs.pdf Wednesday March 31, 2021 10:38:09
- Public Contract Code Statements Public Contract Code Statement RNR Construction.PDF Friday March 26, 2021 15:42:22
- Non-Collusion Affidavit Non Collusion Affidavit RNR Construction.PDF Friday March 26, 2021 15:43:26
- Debarment and Suspension Certification Debarment and Suspension Certificate RNR Construction.PDF Friday March 26, 2021 15:43:36
- Nonlobbying Certification for Federal-Aid Contracts NonLobbying Certification RNR Construction.PDF Friday March 26, 2021 15:43:46
- Disclosure of Lobbying Activities Disclousre Of Lobbying Activities RNR Construction.PDF Friday March 26, 2021 15:45:26
- Bid Security Election Form Bid Security Form RNR Construction.pdf Friday March 26, 2021 15:45:42
- Disadvantaged Business Enterprises Forms (optional)
- Additional Document Bid Coversheet RNR Construction.PDF Wednesday March 31, 2021 08:04:16

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bidders Bond - RNR Construction.pdf - Friday March 26, 2021 15:46:00

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Andre Catellier, President, R N R Construction, Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	M	
20165 Addendum 2 Mon March 22 2021 02:42 PM	V	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	M	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: R.A. Nemetz Construction Co., Inc.

690 LIVE OAK AVENUE

Address: PO Box 5306

Galt, CA 95632

Contact: robert nemetz

Email: rob@ranemetz.com

Phone: 209-744-1001 Fax: 209-744-1001 HST#: 94-2511345

Submission Details

Created On: Tuesday March 16, 2021 13:51:18
Submitted On: Wednesday March 31, 2021 10:48:20

Submitted By: robert nemetz
Email: rob@ranemetz.com

Transaction #: ce0c2c3f-9fa0-454f-8361-6b9f3fbf3cef

Submitter's IP Address: 173.243.71.228

Schedule of Prices

Bid Item List

Line tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE*	AMOUNT
		66018	FURNISH FIELD OFFICE	LS	1	\$35,000.0000	\$ 35,000.00
		70030	LEAD COMPLIANCE PLAN	LS	1	\$1,500.0000	\$ 1,500.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$3,500.0000	\$ 3,500.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$6,500.0000	\$ 6,500.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$15,000.0000	\$ 15,000.00
		120120	TYPE III BARRICADE	EA	8	\$100.0000	\$ 800.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$7,500.0000	\$ 37,500.00
		130100	JOB SITE MANAGEMENT	LS	1	\$30,000.0000	\$ 30,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$2,000.0000	\$ 2,000.00
)		130310	RAIN EVENT ACTION PLAN	EA	12	\$500.0000	\$ 6,000.00
		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$1,200.0000	\$ 14,400.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$1,500.0000	\$ 1,500.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$10.0000	\$ 11,800.00
1	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$5.0000	\$ 20,850.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$6.0000	\$ 2,580.00
6	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$3,000.0000	\$ 6,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$308,800.0000	\$ 308,800.00
8	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$3,500.0000	\$ 3,500.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$75.0000	\$ 3,750.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$15.0000	\$ 900.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$5,000.0000	\$ 13,250.00
2		170103A	REMOVE TREE STUMP	EA	45	\$200.0000	\$ 9,000.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$72.0000	\$ 112,320.00
1	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$90.0000	\$ 21,870.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$50.0000	\$ 186,500.00
6	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$100.0000	\$ 21,500.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$100.0000	\$ 284,000.00
8		198010	IMPORTED BORROW	CY	8670	\$45.0000	\$ 390,150.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$30.0000	\$ 6,600.00
0		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$45.0000	\$ 13,950.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.7500	\$ 11,475.00
2		210430	HYDROSEED	SF	61200	\$0.1000	\$ 6,120.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$75.0000	\$ 235,500.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$95.0000	\$ 152,000.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$15.0000	\$ 1,950.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$15.0000	\$ 7,875.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$115.0000	\$ 1,150.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$400.0000	\$ 157,200.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$120.0000	\$ 142,560.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$3,200.0000	\$ 70,400.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$65,000.0000	\$ 65,000.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$750.0000	\$ 55,500.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,100.0000	\$ 144,100.00
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,100.0000	\$ 415,800.00
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$1,000.0000	\$ 1,180,000.00
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,500.0000	\$ 36,000.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$150.0000	\$ 12,450.00
48		510094A	DRAINAGE INLET (TYPE G3)		10	\$3,500.0000	\$ 35,000.00
49	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$2.0000	\$ 236,820.00
50	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$2.0000	\$ 257,000.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$2.2500	\$ 1,500.75
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$35.0000	\$ 560.00
53		600097	BRIDGE REMOVAL	LS	1	\$80,000.0000	\$ 80,000.00
54		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$150.0000	\$ 30,000.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$250.0000	\$ 11,250.00
56		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$850.0000	\$ 5,950.00
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$1,500.0000	\$ 3,000.00
58		710132	REMOVE PIPE	LF	45	\$85.0000	\$ 3,825.00
59	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$135.0000	\$ 86,400.00
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$135.0000	\$ 41,850.00
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$8.0000	\$ 8,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,200.0000	\$ 8,400.00
63		800051	FENCE (CATTLE FENCING)	LF	1450	\$25.0000	\$ 36,250.00
64		803020	REMOVE FENCE	LF	1900	\$2.0000	\$ 3,800.00
65		780210	SURVEY MONUMENT	EA	5	\$650.0000	\$ 3,250.00
66		803060	REMOVE GATE	EA	3	\$500.0000	\$ 1,500.00
67		820130	OBJECT MARKER	EA	4	\$75.0000	\$ 300.00
68	DE	820230	REMOVE SIGN	EA	7	\$130.0000	\$ 910.00
69	PF	820530	RESET ROADSIDE SIGN (ONE POST)	EA	2	\$200.0000	\$ 200.00
70		820804	(ONE POST)	EA		\$300.0000	\$ 600.00
71		832005	MIDWEST GUARDRAIL SYSTEM	LF	425	\$41.0000	\$ 17,425.00
72		839576	END CAP (TYPE A)	EA	2	\$150.0000	\$ 300.00
73		839543	TRANSITION RAILING (TYPE WB-31)	EA	4	\$4,600.0000	\$ 18,400.00

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$3,700.0000	\$ 7,400.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$2,900.0000	\$ 5,800.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$350.0000	\$ 558,250.00
77		839752	REMOVE GUARDRAIL	LF	210	\$45.0000	\$ 9,450.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.5000	\$ 10,650.00
79		999990	MOBILIZATION	LS	1	\$630,000.0000	\$ 630,000.00
Subtotal:							\$ 6,380,140.75

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
None	N/A	N/A	N/A

List of Subcontractors

Bid Number: 20165

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

	Example									
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)				
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes				
2	Ben's Paving	Penryn	СА	99991010	53074535	No				

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	Sterling Holloway	Auburn	CA	382173	1000005529	C Yes No
2	Nitta Erosion Control	Loomis	CA	401640	1000000478	YesNo
3	Dees Burke	Pasadena	CA	1012305	1000036375	€ Yes € No
4	Schwager Davis	San Jose	CA	492582	1000005118	C Yes No
5	Ranch Fence	Mariposa	CA	912353	1000009836	
6	Apply-A-Line	Anderson	CA	1031889	1000053259	C Yes € No
7	Vintage Paving	Winters	CA	709237	1000000609	€ Yes○ No
8	Gabe Mendez Inc.	Newcastle	CA	293782	1000010043	C Yes
9	Jarrett Foundations	McClellan	CA	999006	1000005990	€ Yes € No
10	Dirt & Aggregate	Fairview	OR	507828	1000010905	€ Yes € No
11	Camblin Steel	Roseville	CA	218839	1000003852	○ Yes No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
Sterling Holloway	53	100	Bridge Removal
Nitta Erosion Control	13, 14, 15, 20, 31, 32	100	Erosion Control
Dees Burke	76	44	Barrier Rail (Portion)
Schwager Davis	41	100	Prestressing
Ranch Fence	63	100	Fence
Apply-A-Line	19, 78	100	Striping
Vintage Paving	34	100	Paving
Gabe Mendez Inc	23, 28, 33, 48, 54, 55, 56, 57, 58	100	Roadwork
Jarrett Foundations	17, 38, 39, 40	100	Stream Diversion, Drilling & Pile
Dirt & Aggregate	71, 72, 73, 74, 75, 77	100	Guardrail
Camblin Steel	49, 50, 51, 52	100	Rebar
Camblin Steel	46(portion), 76(portion)	15	Rebar

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

Bid Number: 20165 Vendor Name: R.A. Nemetz Construction Co., Inc.

- Equal Employment Opportunity Certification EEO Cert RA Nemetz Constr.pdf Monday March 22, 2021 09:45:39
- Public Contract Code Statements PCC Statements RA Nemetz Constr.pdf Monday March 22, 2021 09:48:04
- Non-Collusion Affidavit NC Affidavit RA Nemetz Constr.pdf Monday March 22, 2021 09:50:08
- Debarment and Suspension Certification Debarment Cert RA Nemetz Constr.pdf Monday March 22, 2021 09:52:06
- Nonlobbying Certification for Federal-Aid Contracts Nonlobbying Cert RA Nemetz Constr.pdf Monday March 22, 2021 09:54:23
- <u>Disclosure of Lobbying Activities</u> Disclosure of Lobbying RA Nemetz Constr.pdf Monday March 22, 2021 09:57:58
- Bid Security Election Form Bid Security Form RA Nemetz Constr. pdf Monday March 22, 2021 09:59:18
- Disadvantaged Business Enterprises Forms Part 1 Bidder's List of Subcontractors (Listed).pdf Wednesday March 31, 2021 10:44:21
- Additional Document Part 2 Bidder's List of Subcontractors (Not Used).pdf Wednesday March 31, 2021 10:44:37

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

Bid Number: 20165

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Bond - RA Nemetz Constr 3-31-21.pdf - Tuesday March 30, 2021 06:37:12

Vendor Name: R.A. Nemetz Construction Co., Inc.

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

■ I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Robert Nemetz, President, R.A. Nemetz Construction Co., Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	⊠	-
20165 Addendum 2 Mon March 22 2021 02:42 PM	₩	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	₩	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: Steelhead Constructors JV

Does your company conduct

business under any other name? If CA

yes, please state:

PO Box 536

Address:

Palo Cedro, CA 96073

Contact: Kelly Knight

Email: kelly@steelheadconstructors.com

Phone: 530-226-6400 Kelly Fax: 530-226-6401

HST#:

Submission Details

Created On: Monday March 22, 2021 12:23:47
Submitted On: Wednesday March 31, 2021 10:52:48

Submitted By: Kelly Knight

Email: kelly@steelheadconstructors.com

Transaction #: 7beef541-49bd-4421-8ac3-619538b467ac

Submitter's IP Address: 24.176.226.58

Schedule of Prices

Bid Item List

Line tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE*	AMOUNT
		66018	FURNISH FIELD OFFICE	LS	1	\$20,000.0000	\$ 20,000.00
		70030	LEAD COMPLIANCE PLAN	LS	1	\$2,000.0000	\$ 2,000.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$5,000.0000	\$ 5,000.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$10,000.0000	\$ 10,000.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$10,000.0000	\$ 10,000.00
		120120	TYPE III BARRICADE	EA	8	\$250.0000	\$ 2,000.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$12,500.0000	\$ 62,500.00
		130100	JOB SITE MANAGEMENT	LS	1	\$50,000.0000	\$ 50,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$2,000.0000	\$ 2,000.00
)		130310	RAIN EVENT ACTION PLAN	EA	12	\$1,500.0000	\$ 18,000.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$1,000.0000	\$ 12,000.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$1,000.0000	\$ 1,000.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$18.0000	\$ 21,240.00
ļ	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$5.0000	\$ 20,850.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$7.0000	\$ 3,010.00
3	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$2,500.0000	\$ 5,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$40,000.0000	\$ 40,000.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$10,000.0000	\$ 10,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$30.0000	\$ 1,500.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$25.0000	\$ 1,500.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$10,000.0000	\$ 26,500.00
2		170103A	REMOVE TREE STUMP	EA	45	\$250.0000	\$ 11,250.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$55.0000	\$ 85,800.00
1	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$150.0000	\$ 36,450.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$95.0000	\$ 354,350.00
3	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$275.0000	\$ 59,125.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$95.0000	\$ 269,800.00
3		198010	IMPORTED BORROW	CY	8670	\$55.0000	\$ 476,850.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$4.0000	\$ 880.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$12.0000	\$ 3,720.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.8000	\$ 12,240.00
2		210430	HYDROSEED	SF	61200	\$0.1100	\$ 6,732.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$90.1500	\$ 283,071.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$95.0000	\$ 152,000.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$10.0000	\$ 1,300.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$10.0000	\$ 5,250.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$85.0000	\$ 850.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$350.0000	\$ 137,550.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$125.0000	\$ 148,500.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$3,000.0000	\$ 66,000.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$70,000.0000	\$ 70,000.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$600.0000	\$ 44,400.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$4,500.0000	\$ 589,500.00
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$850.0000	\$ 321,300.00
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$750.0000	\$ 885,000.00
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,200.0000	\$ 28,800.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$100.0000	\$ 8,300.00
48		510094A	DRAINAGE INLET (TYPE G3)	EA	10	\$4,000.0000	\$ 40,000.00
49	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$2.0000	\$ 236,820.00
50	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$2.1000	\$ 269,850.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$4.0000	\$ 2,668.00
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$100.0000	\$ 1,600.00
53		600097	BRIDGE REMOVAL	LS	1	\$95,000.0000	\$ 95,000.00
54		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$110.0000	\$ 22,000.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$95.0000	\$ 4,275.00
56		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$275.0000	\$ 1,925.00
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$900.0000	\$ 1,800.00
58		710132	REMOVE PIPE	LF	45	\$25.0000	\$ 1,125.00
59	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$125.0000	\$ 80,000.00
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$150.0000	\$ 46,500.00
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$5.0000	\$ 5,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$2,000.0000	\$ 14,000.00
63		800051	FENCE (CATTLE FENCING)	LF	1450	\$25.0000	\$ 36,250.00
64		803020	REMOVE FENCE	LF	1900	\$5.0000	\$ 9,500.00
65		780210	SURVEY MONUMENT	EA	5	\$500.0000	\$ 2,500.00
66		803060	REMOVE GATE	EA	3	\$400.0000	\$ 1,200.00
67		820130	OBJECT MARKER	EA	4	\$8.0000	\$ 32.00
68	DE	820230	REMOVE SIGN	EA	7	\$130.0000	\$ 910.00
69 70	PF	820530	RESET ROADSIDE SIGN (ONE POST)	EA EA	2	\$200.0000	\$ 200.00
		820804	(ONE POST)			\$150.0000	\$ 300.00
71		832005	MIDWEST GUARDRAIL SYSTEM	LF	425	\$33.0000	\$ 14,025.00
72		839576	END CAP (TYPE A)	EA	2	\$150.0000	\$ 300.00
73		839543	TRANSITION RAILING (TYPE WB-31)	EA	4	\$3,200.0000	\$ 12,800.00

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$3,250.0000	\$ 6,500.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$2,800.0000	\$ 5,600.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$295.0000	\$ 470,525.00
77		839752	REMOVE GUARDRAIL	LF	210	\$6.0000	\$ 1,260.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.5000	\$ 10,650.00
79		999990	MOBILIZATION	LS	1	\$600,000.0000	\$ 600,000.00
Subtotal:							\$ 6,378,233.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
00	NA	NA	00

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Example							
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)	
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes	
2	Ben's Paving	Penryn	СА	99991010	53074535	No	

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	ABSL Construction	Sacramento	CA	621781	1000002818	YesNo
2	Apex Fence Co., Inc	Anderson	CA	269127	1000007379	C Yes
3	Jarrett Foundations, Inc.	McClellan	CA	999006	1000005990	© Yes ○ No
4	NItta Erosion Control	Loomis	CA	401640	100000478	YesNo
5	Schwager Davis, Inc	San Jose	CA	492582	1000005118	C Yes
6	Sierra Traffic Markings, Inc	Roseville	CA	755317	1000002783	∩ Yes ⊙ No
7	Tyrell Resources INC	Truckee	CA	938998	1000007965	 Yes No
8	Vintage Paving Company, Inc	Winters	CA	709237	1000000609	© Yes
9	Dees Burke Engineering Contractors, LLC	Pasadena	CA	1012305	1000036375	€ Yes € No
10	CMC Rebar	Tracy	CA	778010	1000000298	C Yes € No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
ABSL Construction	44	5%	Grind and Groove Bridge Deck
Apex Fence	71-75, 77	100%	
Jarrett Foundations INC	39, 40	100%	
Jarrett Foundations INC	38	79%	30" CIDH Drill, Set Rebar and Place Concrete
Nitta Erosion Control	31, 32	100%	
Scwager Davis Inc	41	100%	
Sierra Traffic Markings, INC	2,19, 78	100%	
Tyrrell Resources INC	22	100%	
Vintage Paving Company, Inc	34	100%	
Vintage Paving Company, Inc	79	4%	Paver Mobilization
Dees Burke Engineering Constructors LLC	76	52%	Form, Place and Finish Concrete Barrier Type 85
CMC Rebar	46	24%	Structural Approach Slab - Rebar Only
CMC Rebar	49-52	100%	
CMC Rebar	76	21%	Concrete Barrier Type 85 - Rebar Only
Sierra Traffic Markings, INC	79	1	Striping Mobe

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification EEO Certification.pdf Tuesday March 30, 2021 16:14:26
- Public Contract Code Statements Public Contract Code Statements.pdf Tuesday March 30, 2021 16:17:35
- Non-Collusion Affidavit Non Collusion Affidavit.pdf Tuesday March 30, 2021 16:15:01
- Debarment and Suspension Certification Debarment and Suspension Certification.pdf Tuesday March 30, 2021 16:15:12
- Nonlobbying Certification for Federal-Aid Contracts Nonlobbying Certification.pdf Tuesday March 30, 2021 16:15:24
- Disclosure of Lobbying Activities Disclosure of Lobbying Activities.pdf Tuesday March 30, 2021 16:15:36
- Bid Security Election Form Bid Security Election Form.pdf Tuesday March 30, 2021 16:15:57
- Disadvantaged Business Enterprises Forms (optional)
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Bond.pdf - Tuesday March 30, 2021 16:16:26

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Troy Kockrow, President, Steelhead Constructors Associates, Joint Venturer

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	M	-
20165 Addendum 2 Mon March 22 2021 02:42 PM	M	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	M	



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: MCM Construction

(916) 779-7242

Address:

North Highlands, CA 95660

Contact: Genesis Wester

Email: bids@mcmconstruction.com

Phone: 916-334-1221 Fax: 916-334-1221

HST#:

Submission Details

Created On: Monday March 15, 2021 10:26:56
Submitted On: Wednesday March 31, 2021 10:53:44

Submitted By: Genesis Wester

Email: bids@mcmconstruction.com

Transaction #: b0f5241c-e17d-4f04-be96-faeed5ee7adf

Submitter's IP Address: 12.24.57.130

Schedule of Prices

Bid Item List

Line tem	P-F-W	BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE*	AMOUNT
1		66018	FURNISH FIELD OFFICE	LS	1	\$50,000.0000	\$ 50,000.00
2		70030	LEAD COMPLIANCE PLAN	LS	1	\$2,500.0000	\$ 2,500.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$10,000.0000	\$ 10,000.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$6,500.0000	\$ 6,500.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$5,000.0000	\$ 5,000.00
		120120	TYPE III BARRICADE	EA	8	\$155.0000	\$ 1,240.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$6,800.0000	\$ 34,000.00
		130100	JOB SITE MANAGEMENT	LS	1	\$25,000.0000	\$ 25,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$400.0000	\$ 400.00
)		130310	RAIN EVENT ACTION PLAN	EA	12	\$160.0000	\$ 1,920.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$260.0000	\$ 3,120.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$500.0000	\$ 500.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$6.5000	\$ 7,670.00
ļ	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$3.0000	\$ 12,510.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$4.0000	\$ 1,720.00
3	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$6,500.0000	\$ 13,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$120,000.0000	\$ 120,000.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$10,000.0000	\$ 10,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$26.0000	\$ 1,300.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$5.0000	\$ 300.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$7,000.0000	\$ 18,550.00
2		170103A	REMOVE TREE STUMP	EA	45	\$200.0000	\$ 9,000.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$30.0000	\$ 46,800.00
ļ	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$65.0000	\$ 15,795.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$21.0000	\$ 78,330.00
3	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$110.0000	\$ 23,650.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$80.0000	\$ 227,200.00
3		198010	IMPORTED BORROW	CY	8670	\$35.0000	\$ 303,450.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$26.0000	\$ 5,720.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$40.0000	\$ 12,400.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.5000	\$ 7,650.00
2		210430	HYDROSEED	SF	61200	\$0.1000	\$ 6,120.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$61.0000	\$ 191,540.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$100.0000	\$ 160,000.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$13.0000	\$ 1,690.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$13.0000	\$ 6,825.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$105.0000	\$ 1,050.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$550.0000	\$ 216,150.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$125.0000	\$ 148,500.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$3,300.0000	\$ 72,600.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$72,000.0000	\$ 72,000.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$550.0000	\$ 40,700.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,545.0000	\$ 202,395.00
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,320.0000	\$ 498,960.00
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$675.0000	\$ 796,500.00
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,260.0000	\$ 30,240.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$83.0000	\$ 6,889.00
18		510094A	DRAINAGE INLET (TYPE G3)	EA	10	\$2,800.0000	\$ 28,000.00
19	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$1.7000	\$ 201,297.00
50	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$2.0000	\$ 257,000.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$4.0000	\$ 2,668.00
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$95.0000	\$ 1,520.00
3		600097	BRIDGE REMOVAL	LS	1	\$95,000.0000	\$ 95,000.00
4		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$125.0000	\$ 25,000.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$225.0000	\$ 10,125.00
6		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$1,550.0000	\$ 10,850.00
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$2,500.0000	\$ 5,000.00
8		710132	REMOVE PIPE	LF	45	\$50.0000	\$ 2,250.00
9	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$122.0000	\$ 78,080.00
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$144.0000	\$ 44,640.00
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$7.0000	\$ 7,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,100.0000	\$ 7,700.00
3		800051	FENCE (CATTLE FENCING)	LF	1450	\$52.0000	\$ 75,400.00
4		803020	REMOVE FENCE	LF	1900	\$6.0000	\$ 11,400.00
5		780210	SURVEY MONUMENT	EA	5	\$1,300.0000	\$ 6,500.00
6		803060	REMOVE GATE	EA	3	\$550.0000	\$ 1,650.00
7		820130	OBJECT MARKER	EA	4	\$75.0000	\$ 300.00
		820230	REMOVE SIGN	EA	7	\$135.0000	\$ 945.00
8			DECET DOADOIDE GION	EA	1	\$220.0000	\$ 220.00
	PF	820530	RESET ROADSIDE SIGN (ONE POST)				
69	PF	820530 820804		EA	2	\$320.0000	\$ 640.00
70	PF		(ONE POST) INSTALL ROADSIDE SIGN		2 425	\$320.0000 \$34.0000	\$ 640.00 \$ 14,450.00
68 69 70 71	PF	820804	(ONE POST) INSTALL ROADSIDE SIGN (ONE POST) MIDWEST GUARDRAIL	EA			

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$3,500.0000	\$ 7,000.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$2,900.0000	\$ 5,800.00
76	F		CONCRETE BARRIER (TYPE 85)	LF	1595	\$280.0000	\$ 446,600.00
77		839752	REMOVE GUARDRAIL	LF	210	\$6.0000	\$ 1,260.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$2.0000	\$ 14,200.00
79		999990	MOBILIZATION	LS	1	\$545,000.0000	\$ 545,000.00
	Subtotal: \$						

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *	
N/A	N/A	N/A	N/A	

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Example							
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)	
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes	
2	Ben's Paving	Penryn	СА	99991010	53074535	No	

Line Item	Business Name *	Location City *	State *		Public Works Contractor DIR Registration Number *	DBE
1	Schwager Davis Inc	San Jose	CA	492582	1000005118	C Yes ⓒ No
2	Dees Burke Engineering Constructors, LLC	Pasadena	CA	1012305	1000036375	YesNo
3	Apex Fence Co., Inc.	Anderson	CA	269127	1000007379	○ Yes ⓒ No
4	SSEC	New Castle	CA	1039888	1000058550	C Yes ⓒ No
5	C&N Reinforcing	Manteca	CA	1052018	1000365489	© Yes ○ No
6	Knife River Construction	Chico	CA	091712	1000002755	C Yes ⓒ No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
Schwager Davis Inc	41	100%	
Dees Burke Engineering Constructors, LLC	76	55%	Form/Pour/Strip only
Apex Fence Co., Inc.	71-75, 77	100%	
SSEC	13-15,20,31-32	100%	
C&N Reinforcing	46	24%	Rebar only
C&N Reinforcing	49-52	100%	
C&N Reinforcing	76	20.5%	Rebar only
Knife River Construction	23,28,33,34	100%	

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification EEOC.pdf Wednesday March 31, 2021 08:39:15
- Public Contract Code Statements Public Contract Code Statement.pdf Wednesday March 31, 2021 08:39:26
- Non-Collusion Affidavit Non Collusion Affidavit.pdf Wednesday March 31, 2021 08:39:33
- Debarment and Suspension Certification Debarment and Suspension.pdf Wednesday March 31, 2021 08:42:42
- Nonlobbying Certification for Federal-Aid Contracts Nonlobbying Certification.pdf Wednesday March 31, 2021 08:42:57
- Disclosure of Lobbying Activities Disclosure of Lobbying Activities.pdf Wednesday March 31, 2021 08:43:09
- Bid Security Election Form Bid Security Election Form.pdf Wednesday March 31, 2021 08:43:16
- Disadvantaged Business Enterprises Forms (optional)
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash).
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Bond.pdf - Wednesday March 31, 2021 08:43:27

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

■ I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Richard McCall, President, MCM Construction, Inc.

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid.

Yes

No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	区	
20165 Addendum 2 Mon March 22 2021 02:42 PM	R	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	区	-



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20165 - Dowd Road Over Racoon Creek Bridge Replacement Project

Opening Date: February 25, 2021 12:00 PM

Closing Date: March 31, 2021 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: Myers & Sons Construction, LLC

Does your company conduct

business under any other name? If CA

yes, please state:

4600 Northgate Blvd, Suite 100

Address:

Sacramento, California 95834

Contact: Clinton Myers

Email: cwmyers@myers-sons.com

Phone: 916-283-9950
Fax: 916-614-9520
HST#: 823638304

Submission Details

 Created On:
 Monday March 22, 2021 11:58:40

 Submitted On:
 Wednesday March 31, 2021 10:45:01

Submitted By: Clinton Myers

Email: cwmyers@myers-sons.com

Transaction #: fc7d44ce-40f2-4503-99f9-399c68a5d3f4

Submitter's IP Address: 68.71.88.37

Schedule of Prices

Bid Item List

ine tem P-F-W BID		BID ITEM NO.	BID ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE*	AMOUNT
1		66018	FURNISH FIELD OFFICE	E LS 1		\$50,000.0000	\$ 50,000.00
2		70030	LEAD COMPLIANCE PLAN	LS	1	\$3,250.0000	\$ 3,250.00
		100100	DEVELOP WATER SUPPLY	LS	1	\$25,000.0000	\$ 25,000.00
		120090	CONSTRUCTION AREA SIGNS	LS	1	\$12,000.0000	\$ 12,000.00
		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$20,000.0000	\$ 20,000.00
		120120	TYPE III BARRICADE	EA	8	\$85.0000	\$ 680.00
		128651	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$15,000.0000	\$ 75,000.00
		130100	JOB SITE MANAGEMENT	LS	1	\$35,000.0000	\$ 35,000.00
		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$3,000.0000	\$ 3,000.00
0		130310	RAIN EVENT ACTION PLAN	EA	12	\$500.0000	\$ 6,000.00
1		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	12	\$500.0000	\$ 6,000.00
2		130330	STORM WATER ANNUAL REPORT	LS	1	\$800.0000	\$ 800.00
3	W	130610	TEMPORARY CHECK DAM	LF	1180	\$7.5000	\$ 8,850.00
1	W	130640	TEMPORARY FIBER ROLLS	LF	4170	\$4.0000	\$ 16,680.00
5	W	130680	TEMPORARY SILT FENCE	LF	430	\$4.7500	\$ 2,042.50
3	W	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$5,000.0000	\$ 10,000.00
7	W	130720A	TEMPORARY CREEK DIVERSION SYSTEM AND RESTORATION	LS	1	\$175,000.0000	\$ 175,000.00
3	W	130900	TEMPORARY CONCRETE WASHOUT	LS	1	\$5,000.0000	\$ 5,000.00
9		141103	REMOVE YELLOW PAINTED TRAFFIC STRIPE (HAZARDOUS WASTE)	LF	50	\$80.0000	\$ 4,000.00
0	W	160110	TEMPORARY HIGH- VISIBILITY FENCE	LF	60	\$45.0000	\$ 2,700.00
1		170103	CLEARING AND GRUBBING	AC	2.65	\$7,500.0000	\$ 19,875.00
2		170103A	REMOVE TREE STUMP	EA	45	\$500.0000	\$ 22,500.00
3		190101	ROADWAY EXCAVATION	CY	1560	\$60.0000	\$ 93,600.00
1	F	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	243	\$80.0000	\$ 19,440.00
5	F	192037	STRUCTURAL EXCAVATION (RETAINING WALL)	CY	3730	\$20.0000	\$ 74,600.00
3	F	193003	STRUCTURE BACKFILL (BRIDGE)	CY	215	\$125.0000	\$ 26,875.00
7	F	193013	STRUCTURAL BACKFILL (RETAINING WALL)	CY	2840	\$76.0000	\$ 215,840.00
3		198010	IMPORTED BORROW	CY	8670	\$35.0000	\$ 303,450.00
9		198250A	GEOSYNTHETIC REINFORCEMENT (BIAXIAL GEOGRID)	SY	220	\$26.0000	\$ 5,720.00
)		198250B	GEOSYNTHETIC REINFORCEMENT (GEOFABRIC, CLASS B)	SY	310	\$40.0000	\$ 12,400.00
1		210260	ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SF	15300	\$0.7500	\$ 11,475.00
2		210430	HYDROSEED	SF	61200	\$0.0800	\$ 4,896.00
3		260203	CLASS 2 AGGREGATE BASE	CY	3140	\$70.0000	\$ 219,800.00
4		390132	HOT MIX ASPHALT (TYPE A)	TON	1600	\$75.0000	\$ 120,000.00

35		394074	PLACE HOT MIX ASPHALT DIKE(TYPE C)	LF	130	\$12.0000	\$ 1,560.00
36		394077	PLACE HOT MIX ASPHALT DIKE(TYPE F)	LF	525	\$12.0000	\$ 6,300.00
37		394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	10	\$100.0000	\$ 1,000.00
38		490604	30" CAST-IN-DRILLED-HOLE CONCRETE PILE	LF	393	\$450.0000	\$ 176,850.00
39	F	490782	FURNISH PILING (CLASS 200) (ALTERNATIVE W)	LF	1188	\$115.0000	\$ 136,620.00
40	F	490783	DRIVE PILE (CLASS 200) (ALTERNATIVE W)	EA	22	\$3,000.0000	\$ 66,000.00
41	F	500001	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	\$70,000.0000	\$ 70,000.00
42	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	74	\$700.0000	\$ 51,800.00
43	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	131	\$1,655.0000	\$ 216,805.00
44	F	510054	STRUCTURAL CONCRETE, BRIDGE (POLYMER FIBER)	CY	378	\$1,275.0000	\$ 481,950.00
45	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	1180	\$1,000.0000	\$ 1,180,000.00
46	F	510085	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE EQ)	CY	24	\$1,800.0000	\$ 43,200.00
47		519091	JOINT SEAL (MR 1 1/2")	LF	83	\$55.0000	\$ 4,565.00
48		510094A	DRAINAGE INLET (TYPE G3)		10	\$2,800.0000	\$ 28,000.00
	F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	118410	\$1.5500	\$ 183,535.50
	F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	128500	\$1.9500	\$ 250,575.00
51	F	520110	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	667	\$4.0000	\$ 2,668.00
52	F	520120	HEADED BAR REINFORCEMENT	EA	16	\$95.0000	\$ 1,520.00
53		600097	BRIDGE REMOVAL	LS	1	\$250,000.0000	\$ 250,000.00
54		641104	15" PLASTIC PIPE (CORRUGATED HDPE)	LF	200	\$120.0000	\$ 24,000.00
55		641125	36" PLASTIC PIPE (CORRUGATED HDPE)	LF	45	\$225.0000	\$ 10,125.00
56		705309	15" ALTERNATIVE FLARED END SECTION	EA	7	\$1,550.0000	\$ 10,850.00
57		705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$2,400.0000	\$ 4,800.00
58		710132	REMOVE PIPE	LF	45	\$45.0000	\$ 2,025.00
59	F	721013	ROCK SLOPE PROTECTION (CLASS V, METHOD B)	CY	640	\$200.0000	\$ 128,000.00
60	F	721028	ROCK SLOPE PROTECTION (CLASS II, METHOD B)	CY	310	\$240.0000	\$ 74,400.00
61	F	729011	ROCK SLOPE PROTECTION FABRIC (TYPE 8)	SY	1000	\$10.0000	\$ 10,000.00
62		731507	MINOR CONCRETE - GUTTER DEPRESSION	CY	7	\$1,000.0000	\$ 7,000.00
63		800051	FENCE (CATTLE FENCING)	LF	1450	\$45.0000	\$ 65,250.00
64		803020	REMOVE FENCE	LF	1900	\$15.0000	\$ 28,500.00
65		780210	SURVEY MONUMENT	EA	5	\$2,000.0000	\$ 10,000.00
66		803060	REMOVE GATE	EA	3	\$1,500.0000	\$ 4,500.00
67		820130	OBJECT MARKER	EA	4	\$95.0000	\$ 380.00
68	DE	820230	REMOVE SIGN	EA	7	\$250.0000	\$ 1,750.00
	PF	820530	RESET ROADSIDE SIGN (ONE POST)	EA	1	\$350.0000	\$ 350.00
70		820804	INSTALL ROADSIDE SIGN (ONE POST)	EA	2	\$300.0000	\$ 600.00
71		832005	MIDWEST GUARDRAIL SYSTEM	LF	425	\$40.0000	\$ 17,000.00
72		839576	END CAP (TYPE A)	EA	2	\$125.0000	\$ 250.00
73		839543	TRANSITION RAILING (TYPE WB-31)	EA	4	\$4,900.0000	\$ 19,600.00

74		893584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$4,900.0000	\$ 9,800.00
75		839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	2	\$4,500.0000	\$ 9,000.00
76	F	839700A	CONCRETE BARRIER (TYPE 85)	LF	1595	\$250.0000	\$ 398,750.00
77		839752	REMOVE GUARDRAIL	LF	210	\$45.0000	\$ 9,450.00
78		840505	6" THERMOPLASTIC STRIPE	LF	7100	\$1.2000	\$ 8,520.00
79		999990	MOBILIZATION	LS	1	\$620,000.0000	\$ 620,000.00
Subtotal:						\$ 6,239,322.00	

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
N/A	N/A	N/A	N/A

List of Subcontractors

Enter firm name, city, state, California contractor license number, public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

	Example						
Line Item	Business Name	Location City	State	Contractor		DBE (Y/N)	
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes	
2	Ben's Paving	Penryn	СА	99991010	53074535	No	

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *	DBE
1	Teichert Construction	Roseville	CA	8	1000002575	○ Yes ⓒ No
2	Jarrett Foundations, Inc.	McClellan	CA	999006	1000005990	⊙ Yes ⊝ No
3	Sterling P. Holloway III, Inc.	Auburn	CA	382173	1000005529	∩ Yes No
4	Schwager Davis Inc.	San Jose	CA	492582	1000005118	○ Yes ○ No
	Dees Burke Engineering Constructors, LLC	Pasadena	CA	1012305	1000036375	⊚ Yes ⊝ No
6	P C & N Construction, Inc.	Byron	CA	771652	1000002500	€ Yes € No
7	C&N Reinforing, Inc.	Manteca	CA	1052018	1000365489	YesNo
8	Marina Landscape, Inc.	Lathrop	CA	492862	100000079	∩ Yes ∩ No

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.

Example

Subcontractor	Item	Percentage (%)	Description
Bob's Tree Co.	1	50%	Tree Removal
Ben's Paving	23-35, 37, 39, 41	100%	

Subcontractor	Item	Percentage (%)	Description
Teichert Construction	23, 25, 27-30, 33-37, 48, 54- 62	58, 100%	
Jarrett Foundations, Inc.	17	84%	Sheet Pile
Sterling P Holloway III, Inc.	53	28%	Bridge Demo Only
Schwager Davis, Inc.	41	100%	
Dees Burke Engineering Constructors, LLC	76	62%	Form, Pour, Strip
Teichert Construction	79	21%	Mobilization for Teichert's Portion of Work
P C & N Construction, Inc.	71-75, 77	100%	
C&N Reinforcing, Inc.	46	17%	Rebar
Jarrett Foundations, Inc.	39	100%	
Jarrett Foundations, Inc.	40	81%	Drive Pile
Jarrett Foundations, Inc.	38	62%	CIDH Piling
C&N Reinforcing, Inc.	49-52	100%	
C&N Reinforcing, Inc.	76	23%	Rebar
Marina Landscape, Inc.	13-15, 20, 31, 32	100%	

Documents

Complete and submit the required forms provided for a responsive bid. Failure to include all of the required forms may render your bid non-responsive. County reserves the right to reject any or all bids and to waive any irregularities in bids.

- Equal Employment Opportunity Certification Signed- Equal Employment Opportunity.pdf Monday March 22, 2021 12:06:32
- Public Contract Code Statements Signed- Public Contract Code.pdf Monday March 22, 2021 12:06:40
- Non-Collusion Affidavit Signed- NonCollusion Affidavit.pdf Monday March 22, 2021 12:06:51
- Debarment and Suspension Certification Signed- Debarment and Suspension.pdf Monday March 22, 2021 12:07:01
- Nonlobbying Certification for Federal-Aid Contracts Signed- NonLobby Cert.pdf Monday March 22, 2021 12:10:02
- Disclosure of Lobbying Activities Signed- Disclosure of Lobbying.pdf Monday March 22, 2021 12:10:12
- Bid Security Election Form Signed- Bid Security Election Form.pdf Monday March 22, 2021 12:11:31
- <u>Disadvantaged Business Enterprises Forms</u> Disadvantage Business Enterprise Forms.pdf Tuesday March 30, 2021 07:36:34
- Additional Document (optional)

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- · Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Signed- Bid Security.pdf - Monday March 22, 2021 12:12:00

Addenda, Terms and Conditions

The bidder declares that it has read the accompanying Notice to Contractors and Instructions to Bidders, and has examined all Bid and Contract Documents, including the plans, specifications and Addenda issued by the County, and that it will contract with the County to construct and complete each assigned Work in a satisfactory condition.

I acknowledge that I have the authority to bind the Company and submit this bid on behalf of the Company. - Clinton W. Myers, Vice President, Myers & Sons Construction, LLC

The Applicant declares that there is an actual or potential Conflict of Interest relating to the preparation of its submission, and/or the Applicant foresees an actual or potential Conflict of Interest in performing the contractual obligations contemplated in the bid. © Yes © No

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20165 Addendum 3 Tue March 23 2021 02:23 PM	№	
20165 Addendum 2 Mon March 22 2021 02:42 PM	₩	-
20165 Addendum 1 Mon March 15 2021 11:37 AM	M	-